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olgEs X 9%, 167 995,367 800
oglzdg =d 543,530 542,730 800
¥EEs A= EHl 171,687 170,887 800
201 fer= 3| 129,237 128,437 800
2 3522l 31,040 30,240 800
OLgxted 288 2,000 1,200 800
—JLg 800,000 1CH 800 0 800
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02 JIetx 2= 89,694 55,279 34,415
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—32(¢3) 23,647 0 23,647
—JIE2d 140,0003 128 +83 1,120 0 1,120
— QD2 A 98,530 x 1813 1,281 0 1,281
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— NG 140,000& 18 +83 1,120 0 1,120
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—8,9= 175,0002 x4 x 122 8,400 5,580 2,820
— 3 175,000« 1« 122 2,100 1,860 240
Jl=&H 54,532 52,532 2,000
Jl=2&H] 54,532 52,532 2,000
201 LEeH2 | 42,364 40,364 2,000
2 S52g4l 15,820 13,820 2,000
Oz RAEs 2eld 15,320 13,320 2,000
—2= ==clHl 7,000 5,000 2,000




